


stallation of Feet

B

MObe!-Kollehtion-$< Auon

B e e



tion of Feet
e M6*14mm (B) nuts with an M4 wrench (F). (Total 8 pieces)

L
b:°
95

Kollehtion-Schuwon

i
Rk

o




| the Frames
g the holes in frame and frame, with the threaded holes in the colu

x>




the Frames

he M6x10 hexagon socket head cap screws (A) with an M4 wrench
CS)




ne Side Panels
side panels into the frame, and aligning the holes in the side panels
ed holes on the bottom of the frame.

' p—




the Side Panels

he M6x14 hexagon socket head cap screws (B) with an M4 wrench
)CS)




he Connecting Rod

connecting rod into the installed two table frames and indent the
1es towards the center and adjust to a safe length.

.‘._




the Connecting Rod

e M6x10 hexagon socket head cap screws (A) with an M4 wrench (
e frame and connecting rods.(Total 8 pcs)

— 7l .
o8
5 g ¢
“j"""‘—S




he Table Board

table board flat on the gfdund, with the side with the pilog hole faci
ed table frame 180 degrees and place it on the tableboard.

-
-y .
.

! —_——
‘“‘M&M




he Table Board

holes on the side paneils of the table frame are aligned with the pilot
e board, tighten the STS5x20 self-tapping screws (D) with your own
er or electric gun. (16 pieces in total)

el
—

el i o



he Table Board

\olesonmosodepanelsom\etableframemﬁgnedmmmepdot
e board, tighten the STS5x20 self-tapping

er or electric gun. (16 pieces in total)

L
_*

95
(clicn-scm







